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	 MASTER OF ARTS (ECONOMICS) 

Term-End Examination 
Do 
o 
	 December, 2018 

MEC-008 : ECONOMICS OF SOCIAL SECTOR 
AND ENVIRONMENT' 

Time : 3 hours 	 Maximum Marks : 100 
Note : 	Attempt questions from each section as per 

instructions given. 

SECTTON - A 

Answer any two questions from this section in 
about 500 words eadi : 2x20=40 

1. The population biology of a fishery is given by 

F(x)=ax — bx2, where x =stock and 

F(x)= growth. Find the maximum sustainable 

yield and its corresponding population. 

2. What are the different health insurance 

mechanisms used to pool health risks ? Should 

user charges be levied for public health care 

services ? Critically examine. 

3. Distliiguish between growth and development. 

Explain the relationship between economic 

growth and economic inequality as postulated by 
Kuznets. 
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4. 	In the traditional system of national accounts, 

what modifications are required to account for 

environmental changes ? 

SECTION - B 

Answer any five questions from this section in about 

250 words each : 	 5x12=60 

	

5. 	Does the presence of pecuniary externalities cause 

market failure ? Explain. 

	

6. 	What is meant by "total economic value of 

environment" ? 

	

7. 	Critically examine the techniques of man power 

forecasting. 

	

8. 	Provide a brief over view of environmental policies 

in India. 

	

9. 	Write short notes on : 

(a) Types of educational financing in India 

(b) Coase's Theorem 

10. Explain the implications of the fundamental 

theorems of welfare economics. 

11. Briefly discuss the major debates surrounding 

poverty line in India. 

12. Critically examine the linkages among poverty, 

inequality and development. 
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